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Model Test One

H—Eps 2N

Part | Listening Comprehension (20 minutes)

Directions : [y this section, you will hear 10 short conversations. At the end of
each conversation, a question will be asked about what was said. Both the cony-
ersation and the question will be spoken only once. After each question there will
be a pause. During the pause, you must read the four choices marked A} , B),
C) and D) and decide which is the best answer. Then mark the corresponding
letter on the Answer Sheet with a single line through the centre.
Example :
You will hear:w; [ certainly hope the library will be open this Saturday .

M: The sign says library hours. Week days 8 am. to 9 pm. On

Saturdays 9 to 5, closed Sunday.

Q: When will the library be open on Saturday?
You will read:

A) 8am. 09 am.

B) 5 am. to 9 pm.

C) 9 am. to 5 pm.

D) closed.

From the conversation we know that the two are talking about library hours.

On week days the library is open from 8 am. to 9 pm. On Saturdays it ‘s epen
from 9 am. to 5 pm. Therefore C) “9 1o 5" is the correct answer. You should
choose [ C] on the Answer Sheet and mark it with a single line through the cen-

ter.

Sample Answer { A] [B] [+ [D}
1. A. The clerk doesn’t like to be bothered.
B.The machine was just repaired.




FE IRV Lo wan s wnnenud il con

C.The man shouldn’t make any more copies.
D. She can teach the man to use the machine.
2. A listening to music. . B. Talking about a friend.
C. Discussing a sports record. . .D.Planning a concert.
3.A.She’s annpyed he didn’t find the magazine.
B. She will look for the magazine another day.
C. She appreciates his looking for the magazine.
D.She’s grateful that he got her the magazine.
‘4. A.They should get a new radio.
B. The radio batteries have been replaced.
C.The radio is somewhere else.
D.They don’t really need to hear the radio.
'5.A.The woman wasn't with the others.
B.The class usually begins at three.
C. Professor Smith didn’t have class today.
D.The woman’s class was allowed to leave ahead of time.

6.A.6:15 B.6:45 C.5:45 D.5:15
7.A.808 - 2233 B.808 — 3322 C.888 - 2233 D.888 — 3322
8.A. At the beach B.In the mountains

C. In the city D.In the country
9.A. 86 B.$2 C. $4 D.§10
10. A. a manager B. a customer C. a visitor D.a waitress

Directions : In this section you will hear 3 short passages. At the end of each pas-
sage, you will hear some questions. Both the passage and the questions will be
spoken only once. After you hear a question, you must choose the best answer
from the four choices marked A),B),C), and D). Then mark the correspond-
ing letter on the Answer Sheet with a single line through the centre.

[Questions 11 013 arebasedontlwpassageyouhweﬁlstheard.J

11.A.The five senses. - B. The spinal cord.
C.The nerve cells. : v D.The brain.

12. A.The speaker’s recent research  B.Pant of a text book.
C.A large chart. . B D. Some microscope slides.

13.A.In order to attach themselves to muscles.

B.In order to carry messages.
C.In order to reproduce themselves.

D.In order to stretch and grow.
2.



Model Test One

Questions 14 to 16 are based on the passage you have just heard .

14. A. A physical education teacher. B. A new student.

C. A professional photographer. D. A university administrator.
15.A.To introduce themselves to all of the judges.

B.To get departmental approval for their course.

C.To find the best seats for the meet.

D.To meet their future professors.

16. A.The north end of the gym. B. The south end of the gym.
C.1In an office room. D.Out of the gym.

Qwestion.s 17 to 20" are based on the passage you have just heard .

17.A.100 B.1,200 C.35 D. None

18. A. Great floods roared through.
B. Thunderstorms struck many places.
C.Heavy rain destroyed people’ s house.
D. An earthquake destroyed a town.

19. A . In the villages. B.In the school.
C. At home. D.In a river.

20. A. rebuilt. B. guarded against floods.
C. swept away. D. partly damaged.

Part [| Reading Comprehension

Directions {There are four passages in this part. Each passage is followed hy some
questions or unfinished statements. For each of them there are four choices
marked A),B),C)and D). You should decide on the best choice and mark the
corresponding letter on the Answer Sheet with a single line through the ceuter.

buestion.s 21 to 25 are based on the following passage : }

Heroin addictions today is found chiefly among young men of minority
groups in ghetto (3 K A X ) areas. Of the more than 60,000 known addicts,
more than half live in New York State.Most of them live in New York City. Re-
cent figures show that more than half of the addicts are under 30 years of age.

Narcotic addiction in the United States is not limted to heroin users. Some
middle-aged and older people who take narcotic drugs regularly to relieve pain
can also* become addicted. So do some people who can get drugs easily. such as
doctors , nurses, and phammacists. Studies show that this type of addict has person-
ality and emotional problems very similar to those of other regular narcotic users.

-3 .
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Many addicts admit that getting a continued supply is the main ohject of
their lives. An addict’s concentration on getting drugs often prevents continuing
an education or working at a job. His health is often poor. He may be sick one
day from the effects of withdrawal and sick the next from an overdose. Statistics
show that an addict’ s life span may be shortened by 15 to 20 years. The addict is
usually in trouble with the family and almest always in trouble with the law.

Some studies suggest that many of the known narcotic addicts had some
trouble with the law before they became addicted. Once addicted, they may be-
come even more involved with crime because it costs so much to support the her-
oin habit.

Most authorities agree that the addict’s involvement with crime is not a di-
rect effect of the drug itself. Tumning to crime is usually the only way to get that
much money . The addicts’ crimes are nearly always thefts or other crimes against
property.

Federal penalties for illegal narcotics usage were established under the Har-
rison Act of 1914.The Act provides that illegal possession of narcotics is punish-
able by fines and/or imprisonment . Sentences can range from 2 to 10 years for the
first offense,5 to 20 years for the second, and 10 to 20 years for further offenses.

Illegal sale of narcotics can mean a fine of $ 20,000 and a sentence from
20 10 40 years for later offenses. A person who sells narcotics to someone: under
18 is refused parole and probation, even for the first offense. If the drug is hero-
in, he can be sentenced to life imprisonment or to death
21. What is the topic of this passage?

A.How to cure a drug addict.
B. Heroin and narcotic.
C.The hamn of the drugs and the anti-drug measures taken by the govern-
ment.
D.The American laws.
22. An addict cannot continue his eduction or work at a job, because of.
A. his concentration on getting drigs
B. his personality
C. his emotional problems
D. his stortage of money
23. According to the author, how can the addicts get the money for drugs?
A. Borrow from their families.
B. By hard working.
C.In an illegal way.
D.The author doesn’t mention it.
24. According to the author, who can get narcotic easily?

o 4 -
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A. Government men. B. Medical workers.
C. The minorities. D.The Jews.
25. A person who sell heroin to a kid can be.
A.fined $%20,000. B. sentenced to 5 to 20 years in prison.

C. sentenced to 20 to 40 years in prison.
D. sentenced to death.

Euestiuns 26 to 30 are based on the following passage : —'

There are various ways in which individual economic units can interact with
one another. Three basic ways may be described as the market system, the ad-
ministered system and the traditional system.

In a market system individual economic units are free to interact among
each other in the market place. It is possible to buy commodities from other eco-
nomic units or sell commodities to them. In a market, transactions may take place
via harter or money exchange. In a barter economy, real goods such as automo-
biles, shoes, and pizzas are traded against each other. Obviously, finding some-
body who wants to trade my old car in exchange for a sailboat may not always be
an easy task. Hence, the introduction of money as a medium of exchange eases
transactions considerably. In the modem market economy . goods and services are
bought or sold for money.

An alternative to the market system is administrative control by some agency
over all transactions. This agency will issue edicts or commands as to how much
of each good and service should be produced, exchanged, and consumed by each
economic unit. Central planning may be one way of administering such an econo-
my.The central plan, drawn up by the government, shows the amounts of each
commodity produced by the various finns and allocated to different households for
consumption. This is an example of complete planning of production, consump-
tion, and exchange for the whole economy.

In a traditional society, production and consumption pattems are governed
by tradition: parentage, religion, and custom fix every person’s place within the
economic system. Transactions take place on the basis of tradition, tou. People
belonging to a certain group or caste may have an obligation to care for other per-
sons, provide them with food and shelter, care for their health, and provide for
their education. Clearly, in a system where every decision is made on the hasis of
tradition alone . progress may be difficult to achieve. A stagnant society may re-
sult.

26. What is the main purpose of the passage?
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A.To outline contrasting types of economic systems.
B.To explain the science of economics.
C.To argue for the superiority of one economic system.
D.To compare barter and money-exchange markets.
27.In the second paragraph, the word “real” in “real goods” could best be re-
placed by which of the following?

A high quality. B. concrete. C. utter. D. authentic.
28. According to the passage,a barter economy can lead to
A rapid speed of transactions B . misunderstandings
~ C.inflation D. difficulties for the traders

29. According to the passage, who has the greatest degree of control in an admin-
istered system?
A . Individual B. Small businesses
C. Major corporations D.The government

30. Which of the following is NOT mentioned by the author as a criterion for de-
termining a person’s place in a traditional society?

A . Family background. B. Age.
C. Relii'ous belief. D. Custom.
estions 1 t0 35 are b onthéollow' e ;

Tormadoes, whirlwinds, and watersprouts are rotating funnel cloud air masses
of small diameter. They are differentiated by the intensity of their rotation and by
the surfaces that they traverse. Though tomadoes and whirlwinds both travel over
land masses, whirlwinds are atmospheric systems smaller than tornadoes. Water
sprouts are tornadoes that form or pass over d water surface. A tomnado is a pow-
erful vortex or “twister” whose rotational speeds are estimated to be near 300
miles per hour. The first visible indication of tomado development is usually a
funnel cloud. As this funnel dips earthward, it becomes darker because of the de-
bris that is forced into its intensifying vortex. Some tornadoes give no visible
warning until their destruction strikes the unsuspecting victim. Tomadoes often
occur in groups, and several twisters sometimes descend from the sane cloud
base. The forward speed of a tornado is nomally 30 to 40 miles per hour. In the
short time that it takes to pass,a tornado can cause fantastic destruction. There
have been cases reported in which blades of straw were embeded in fence posts.
31.How are tomadoes distinguished from whirlwinds?

A. Whirlwinds rotate in a different direction than tornadoes do.
B. Tonadoes travel over land and whirlwinds over water.

+ 6 -
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C. Tonadoes are larger than whirlwinds.
D. Only tornadoes are funnel-shaped.
32.Why do tornadoes appear to be dark?
A.They occur only at nighu. B.They are furmel - shaped.
C. They pick up debris from the ground.
D. They are water — laden.
33. According to the passage, which of the following behaviors is frequently char-
acteristic of funnel clouds?
A Descending from different cloud bases.
B. Occurring in isolated areas.
C. Lasting a long time.
D. Occurring in groups.
34. According to the passage, some tornadoes take people unaware becausc they
A. produce: a sound similar to thunder.
B. cannot be seen until it is too late.
C.look so much like other clouds.
D. carry so many large pieces of debris.
35.The author refers to straw embeded in fence posts in order to show
A. where tornadoes occur.
B. who makes reports about tornadoes.
C. when tormadoes take form.
D. how tomadoes affect physical objects.

F()uestions 36 to 40 are based on the following passage :

Every dav, thousands of managers, bankers, sales executives, lawyers. ac-
countants, and other professionals are driven to anger and despair by the hard re-
alities of the changing world of work . The once-solid foundation for millions of
middle-class families—the corporate career—is in shambles. The Organization
Man of the 1950s and 1960s is being replaced by the migrant manager and free-
lance professional of the 1990s.

The pain of change is all around us. Corporations are rushing to cul costs
and downsize before yearend. They want to take their lumps in 1991, in prepara-
lion for a stronger recovery in 1992. That means an unusual powerful wave of
layoffs will sweep through the U.S. during the last quarter of 1991 . Already . the
drumbeat of bad news is growing louder.

White-collar workers will join the growing ranks of once-secure employees
who are finding themselves on the outside—alone, afraid, and angry. Who

7 .
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doesn’t havea brother or a sister, a parent or a friend who has lost a job re-
cently? The economic recovery will ease the pain, but it won't stop it. Forces of
fierce global competition and industrial consolidation are compelling corporations
to cut entire layers of middle managers and whole categories of professional staff.
Few companies can hide from the intense pressure of international competition

anymore .
36.The changing world of work is making American managers and professionals.
A helpless B. desperate C. angry D.both B and C
37.The corporate career is the foundation for.

A. bankers " B.lawyers and accountants

C. all top managers D. millions of middle-class fanilies
38.In order to get a stronger recovery, corporations are.

A. reducing their sizes B. cutting costs

C. laying off employees D.all above
39. White-collar workers will be.

A. on the inside B. on the outside

C. afraid and angry | } D.both B and C

40. American corporations are
A free from international competition.
B.immune to industrial consolidation.
C. under the intense pressure of intemational competition.
D. stopping the pain of industrial consolidation.

Part [ Vocabulary

Directions: There are 30 incomplete sentences in this part. For each sentence
there are four choices marked A),B),C)and D). Chaose the ONE answer that
best completes the sentence. Then mark the corresponding letter on the Answer
Sheet with a single line through the center.

41. Could you me by passing me the book?

A.hand B. oblige C. render D. give
42 .Mr. Green has recently been of the company.

A. appointed to president. B. appointed president

C. appointed a president D. appointed the president
43. Everyone knows that the earth is spherical, ?

A.doesn’the  B.doesn’tshe  C.doesn’t it D.don’t they
44.The police chief announced that the case would soon be inquired _ .
A.. about B.of C. after D.into
45.You can borrow my book provided that you it to me tomorrow .

-« 8 -
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A retum B. returned C. will returm D. would retum
46. The hushand survived his wife
A for many years B. by many vears
C. during many years D.in many years
47 .He was soaked to the skin, for there was no shelter the rain any-
where. ,
A.under B.in C.off D.from
48 . Either you or he the lie.
Ais telling B. are telling C.tell D. shall tell
49.The old man was seriously ill for a time, but with careful nursing he managed
to .
A.pull off B.pull through  C.get off D. get through
50.The look in her eyes gave no clues how she felt.
A. toward B.to C. about D.with
51.The kid is reaching a botile from the shelf when I came in.
A.to B.at C.for D.in
52.To the waitress’ relief, the plate was left after being dropped onto
the floor.
A. unchanged B. intact C. unharmful D. complete
53. Our plan should be in accordance with the changing situation.
A. whirled B. stroked C. modified D. distracted
54, They have to production for lack of raw materials.
A. cut across B.cut in C.cut off D. cut back

55.Mr. Ralph has just received an invitation from that university to join _ _
as a full professor.

A.association  B.committee C. community D. faculty
56.1t will be hard for anyone to replace Mr. Ned,who is the __  of the
company .
A. mental B. compunehesion  C. brain D. attenclance
57.The fire a lot of smoke but little damage was caused.
A. sent up B. gave away C.let out D. emitted

58. Stunned by what had happened, the old man stood rooted
A.on the spot  B.to the spot C.on the ground D.to the mund

59.The bad weather will our plans by three weeks.
_ A.destory B. pull back C. spoil D. set back
60.The two statements are not consistent . each other. One of them must
be false.
A.in B. for C.with D.to
61.You can’t believe him. What he does often his words.
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A. disagrees with B. disagrees to
C. agrees with D. agrees to
62. At the sight of the police officer, the thief .
A. got to his feet B.took to his heels
C.rose to his feet D. dragged his heels

63 . Unlike science, progress in technology must be measured in terms of the hu-
man factor. Technology must be our slave and

A . not the reverse B. not the version
C. not the same D. not the prejudice
64 . Serious as the damage the boat was, he succeeded in sailing round
Cape Homn. '
A.in B.on C.to D.of
65. It was said that some slaves were buried in the funeral.
A live B. alive C.living D. lively
66.The boy was injured when a firework in his face.
A . went out B. went off C. went round D. went up
67. Careful questioning of the suspect will eventually the truth.
A . bring up B. bring down C.bring forward D, bring out
68 . Mother of young children hate in staying home and doing housework
all day.
A. caged B.being caged  C.to caged D. go be caged
69.1 think this kind of cloth can silk.
A . pass over B. pass out C. pass by * D.pass for
70. The security of the passengers is supposed to by the captain.
A.see to B. seeing to C.be seen to D.seen to

Part [V Error correction
Directions ; This part consists of a short passage. In the passa,ge there are ultogeth-
er 10 mistakes, one in each numbered line. You may have to change a word, add
a word or delete a word. If you change a wotd ,cross it out and write the correct
word in the correspondig blank. If you add a word, put an insertion mark ( A ) in
the right place and write the missing word in the blank. If you delete a word,
cross it out and put a slash (/) in the blank.

The world is running out of oil, and energy experts believe
that there could be serious shortages in ten years’ time. Not
only is each individual using more oil than ever before, as the
standard of living in industrial countries arises, but the 71.
population explosion means that each year many more people will
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